DGReWIN

— [REUDEI &

Rz A ISORZFESEE MRFE =
— WA A SRPNB O BERN ALK
— mEmT B M (NI [S] [H s BRERNES T
— e A AREBBNRERS
— M ,
— Ay ARREEEEHRETIA
s & ¥ A BRASER BRI SABKIASS
: 7 :
B ‘40 : . A RESTHESTER
l

1021 1031



E% P Professii I Tool Manufact
’ @ﬁ@ﬂ?ﬂm C rotessiona Ooﬁg:l;lga;%reﬁr
FmRs

HEEB A7)

Micro boring tool . '? EEB '!P
AFNLININEFERSSTIE : | | _

M= R R = A4
. i L= E!& L5=5mm

L10=10mm

L15=1
nFEE P
ENMIO, HER ' 3=3.0mm e
W, EIZR, RETASS. ks =5 omm
. e 5=5.0mm
6=6.0mm
B=8.0mm
10=10.0mm
v Y Y
T=2%H B3 442=0.2mm BE
P=RZEH) | B
ot '
. {h R AS5EAGOSE B EE s
|=SBEMT 520
C-MIBMENT s
G=1#
K=E3M 4
F=3 @i BE
Z=[E MmN B1.0=1.0mm=.040
X=F [ Hl /251 o B1.5=1.5mm=.060
U={AEEHI B2.0=2.0mm=.080
W= T fadhf
V=R EE
D=1/

los|




GG R E WI N g C Professional Too;‘l!;:;]ug;g;
MTREEEET]  #M)/ERIPE MTREYEET] 81/ EMPE

_Iiﬁﬂ . . . .
[

g B [ [

30 *MTR1 RO0.05L4 50 0.05 0.5 1.0 MTR5 R0.05 L15 50
30 * MTR 1.5 R0.1L6 50 6 0.10 0.7 15 Lt LLsl 9l 50 15 010 21 5.1
T MTRS5 RO.1 L22 50 22 0.10 | 21 51
*MTR2 RO.05L10 50 10 0.05 0.8 21 5.0 |
: MTR5 RO.1 L30 75 30 0.10 21 5.1
30 *MTR2 RO.15L5 50 5 0.15 | 0.8 21 ‘ uriE: s Uid Py i 620 [ aq 51
*MTR2 RO.15L10 50 10 0.15 0.8 21 | MTR5 RO.2 L22 50 22 0.20 | 21 5.1
MTR3 RO0.05L10 50 10 0.05 ' 13 31 ] MTR5 R0.2 L30 75 30 0.20 24 5.1
MTR3 RO.05L15 50 15 0.05 13 31 | MTRG R0.05 L15 50 15 0.05 | 28 6.1
a0 MTR3 RO.IL1S 50 15 0.10 13 3t ‘ WTRS a1 E10 i 19 210 25 ik
MTR6 RO2 L15 50 15 020 28 6.1
MTR3 RO.2L10 50 10 0.20 13 31 6.0
| ‘ MTR6 RO.2 L22 50 2 0.20 | 28 6.1
MTR3 RO.2L15 50 15 0.20 13 341 i (L e o5 5% 50 | Y &5
MTR 4 RO0.05L15 50 15 0.05 [ 17 41 ‘ MTRE R0O2 L35 75 as 0.20 | 28 6.1
MTR4 RO.1L10 50 10 0.10 17 a1 . MTRT RO2 L22 60 22 0.20 | 33 74
70 |
MTR4 RO.1L15 50 15 0.10 1.7 4.1 MTR7 RO.2 L30 60 30 0.20 33 7.1
40 | g T i
e G % 5 T o A . MTRS R02 L15 60 15 020 _ 3s 81
8.0 | MTRS R0.2 L22 60 22 0.20 38 8.1
MTR4 R0.2L10 50 10 0.20 1.7 41 TS " i - | 55 i
MRS RO2L1S 2 L 220 7 A1 100 | MIR10R02 L3 75 35 020 | 48 10.1
MTR4 R0.2L22 50 22 0.20 17 41
1 TEHEHIFERT
* TR

| o6 | i



GGREWIN® C Professional Too{;ﬂ!:l;]uggl:g;
MXR W] snsssanm MPRELEEETT mmzu

I

A ‘]
| o
=
L1
4 1 a4 B ]
® B - Ak ® B [r—
40 MXR 4 R0.1 L10 50 10 0.10 05 13 3.1 30 * MPR1 RO.05 L4 50 4 0.05 0.2 05 10
40 MXR 4 R0.15 L10 50 10 015 08 16 | a1 B0 RNER TR0 YLD g0 $ L 93 97 i
I 40 * MPR1.5R0.1 L10 50 10 0.10 0.3 07 15
40 MXR 4 R0.15 L15 50 15 0.15 0.8 16 l 41 i S 5 7 i R X =
S0 MXRSRO.2L 15 50 15 0.20 1.0 22 | 51 40 *MPR2 RO.1 L10 50 10 0.10 05 0.8 2.1
50 MXR 5 R0.2 L22 50 22 0.20 10 22 | 5.1 50 * MPR2 RO0.15L5 50 5 0.15 0.5 0.8 2.1
6.0 MXR 6 R0.2L15 50 15 0.20 18 28 6.1 s ~MERZROA5 L0 2 10 bkt 05 b Lk
50 * MPR2 RO.15 L15 50 15 0.15 0.5 0.8 21
80 MR SR ZEEE ol 54 o0 18 24 ‘ & 5.0 MPR3 RO0.05L10 50 10 0.05 07 1.3 3.1
ENSHIERT 50 MPR3 R0.05 L15 50 15 0.05 07 13 3.1
60 MPR3 RO.1 L15 50 15 0.10 0.7 13 ad
60 MPR3 RO.1 L22 50 22 0.10 07 13 31
6.0 MPR3 R0.2 L10 50 10 0.20 07 13 31
7.0 MPR3 R0.2 L15 50 15 0.20 0.7 1.3 34
7.0 MPR3 R02 L22 50 22 0.20 0.7 13 a4
7.0 MPR4 RO.1 L15 50 15 0.10 0.8 17 41
| 80 MPR4 RO1 L22 50 22 0.10 08 17 41
8.0 MPR4 RO.2 L10 50 10 0.20 0.8 17 a1
8.0 MPR4 RO0.2 L15 50 15 0.20 0.8 17 41
= 10.0 MPR4 RO.2 L22 50 22 0.20 0.8 17 41
RBARA

logl




GGRE WIN® (- Professional TOO;";I;]UE;I;;;
MPREXEEET] rzn MURBEEET] pwen

-_—— h

SERE
| o

g4 1 1|
i B ——
- _ E ’J‘ ;L : -

Zan
o]

5.0 MPR 5 RO.1 L22 50 22 0.10 1.2 21 5.1 30 MUR 3 R0.005 L10 50 10 0.05 0.4 13 3.1
7 . 1. 2 1

50 MER BER0ILO0 E 0 19 4 £ 2 3.0 MUR 3 R0.005 L15 50 15 0.05 04 1.3 9.1

50 MPR5 R0.2 L15 50 15 020 | 12 2.1 5.1 - [

" PSS % 55 T %9 =i 40 MUR 4 R0.1 L10 [ 50 10 0.10 05 17 41

50 MPR5 R0.2 L30 75 30 0.20 l 1.2 2.1 5.1 40 MUR 4 R0.1L15 50 15 0.10 05 7 | 41

6.0 MPRE R0.:2 L15 - 12 L ik L 54 5.0 MUR 5 R0.15 L22 | 50 15 0.15 07 2.4 [ 5.1
50 22 020 1.4 28 6.1

0 buiad Bl | 50 MUR 5 R0.15 L22 50 22 0.15 07 21 | 84

6.0 MPRE RO.2 L30 75 30 0.20 1.4 28 6.1 — - 4 — S =l E== R —

70 MPRT ROZIL23 %0 2 020 | 15 as | 11 6.0 MUR 6 R0.15 L15 50 15 0.15 0.9 28 | 61

: : Lo 3 ; a .

7.0 MPR7 RO.2 L30 60 30 0.20 15 33 71 6.0 MUR 6 R0.15 L22 50 22 0.15 09 2ai 0] e

7.0 MFRT 1032135 i 35 020 | 15 33 7.1 8.0 MUR 8 R0.2 L22 B0 | 22 0.20 11 38 8.1

80 MPRB R0.2 L15 80 15 020 | 18 38 8.1

80 MPRE R0.2 L22 60 22 0.20 | 16 38 8.1 AEHEMRIERR T

8.0 MPRE RO.2 L35 75 35 0.20 1.6 38 8.1

10.0 MPR 10 R0.2 L35 75 35 020 | 20 4.8 10.1

eS| SRR R T

1101 1111



GREWIN
MQRZEETT tsrzn

47

e

-

BILE
4.0 MQR 4 R0.2L10 50 10 0.20 0.8 1.8 44
40 MQR 4 R0.2L15 50 15 020 | o8 1.8 41
40 MQR 4 R0.2 L22 50 22 0.20 | 08 18 41
50 MQR 5R0.2L15 50 15 020 | 10 23 51
50 MQR 5 R0.2 L22 50 22 020 | 10 23 51
B.0 MQR 6 R0.2 L15 50 15 0.20 | 14 28 6.1
6.0 MGQR 6 R0.2 L22 50 22 0.20 | 1.4 2.8 6.1
6.0 MGR 6 R0.2 L30 75 30 020 | 14 28 6.1
8.0 MQR 8 R0.2 L22 60 22 020 ‘ 16 38 8.1
80 MQR 8 R0.2 L27 60 27 020 | 20 38 8.1
A EHEMIEER T
a@ihﬁ,fﬁd-*"‘_
\
Ny ¥
1121

C Professional Tool Manufacturer
El IR HIEH

MIRGYEE ] wsmx

-
-

g B [ [
" B

55° ZUERRIRLr

8 5
:

30 MIR 3 L15 A55 50 15 55 05-10 48-24 14 32

40 MIR 4 L15 A55 50 15 55 05-10 48-24 18 | a1
50 | MIR5L15 AS5 T 50 | 15 | 8 | 05125 | 4820 | 23 —l 51

50 MIR 522 ASS | 50 22 55 | 05-125 48-20 23 | 54

6.0 MIR & L15 AS5 | 50 15 55 0.5-1.5 48-16 26 | 6.0

6.0 MIR 6 L22 ASS 50 22 55 05-15 48-16 26 | 60
AENERIHERT

60° ZHRERIRLL

30 MIR 1L5 A60 50 60

30 MIR 116 A60 50 63 60 | 035-045  72-56 065 | 14
20 MIR2L8 AGO s 8 60 | 04507  56-32 1w |21
3.0 MIR 3 L15 ABD 50 15 60 0.8-1.0 32-24 1.4 | 32
40 MIR 4L15 AS0 D 60 | 0810 | 2-24 18 } a1
50 MIR 5L15 AS0 50 15 60 | 10-125  24-20 23 5.1
50 MIR 5 L22 A0 | 50 22 60 | 10-125  24-20 23 | sd
6.0 MIR & L15 AGO 50 15 60 1.0-15 24-16 26 | 60
60 MIR 6 L22 AGO | 50 2 60 10-15 | 24-16 26 | 60
80 MIR 8 L22 ASO 60 22 60 1020 | 24-13 36 | 80

TESEMIEFRT

1131



DGRewIN
MIRMZEET] wusmT

AL —_—
60° FEHREEIRL-ISO - bl I | |
3.0

MIR 3 L15 0.5 ISO M4 x 0.5 50 15 14 3.2
3.0 MIR 3 L15 0.7 ISO M4 x 0.7 50 15 14 32
3.0 MIR 3 L15 0.751S0 M4.5 x 0.75 50 15 14 32
4.0 MIR 4L150.5 ISO M5 x 0.5 50 15 18 4.1
4.0 MIR 4 L15 0.751SO M5 x 0.75 50 15 1.8 41
4.0 MIR 4L15 0.8 ISO M5 x 0.8 50 15 1.8 41
5.0 MIR 5L15 1.0 ISO M6 x 1.0 50 15 22 49
6.0 MIR 6 L22 1.25150 M8 x 1.25 50 22 28 6.1

Bl SRR

60° TEMZREHEL-UN

e

3.0 MIR 3 L15 36 UN 8-36UNF 50 15 14 32
3.0 MIR 3 L15 32 UN 8-32UNC 50 15 14 3.2
4.0 MIR 4 L15 36 UN 12-36UNS 50 15 1.8 41
4.0 MIR 4 L15 32 UN 12-32UNEF 50 15 1.8 441
5.0 MIR 5 L15 28 UN 1/4-28UNF 50 15 22 49
5.0 MIR 5 L18 20 UN 1/4-20UNC 50 18 23 5.0
6.0 MIR 6 L18 24 UN 5/16-24UNF 50 18 28 6.5
6.0 MIR 6 L18 18 UN 5/16-18UNC 50 18 28 6.2
TESIEMHIEHERT

|14 |

C Professional Tool Manufacturer
El IR HIEH

MIRGYEE]] wsmz

NPT#HE &8 40 ‘“ gﬁ: . = . . .

1116 x 27NPT
6.0 MIR 6 L15 27 NPT 27 50 15 26 ‘ 5.9 o
TS SRR
[
Ao
e v} :
1151



@GRGWIN® C Professional Too{;!:l;]uggl;ﬁmﬁr
MIRFHZET] wsmr MIRGIEE]] wamx

Acme FEZER4L

SR

4.0 MIR 4 L15 16 ACME 16
6.0 MIR & L20 14 ACME 14

1/4x16
516x14
2812 7.0 MIR7L252 TR 2 60 25 3.2 30 6.9

29
29
38 29 10.0 1/2x10
29
29

Trox2
Tr10x2
Tri1x2

Tri2x2
125 5/8x8 Trid4x2
146 34 x6

7/8x6 Tr16x2
10.0 MIR10L352TR 2 75 35 4.8 30 1.0

Tr18x2
Tr20x2
Tr11x3
Tr12x3
Tr14x3
Tr2ex3
10.0 MIR10L353TR 3 75 35 48 30 105 Tr24x3
Tr26x3
Tr28x3
Tr16x 4
10.0 MIR 10 L454 TR 4 100 45 4.8 30 11.5 Tr18x 4
Tr20x4
Tr22x5
10.0 MIR 10 L555 TR 5 100 55 48 30 11.0 Tr24x5
Tr28x5

8.0 MIR 8 L30 10 ACME 10
10.0 MIR 10L35 8 ACME 8
10.0 MIR 10L45 6 ACME 6 100

50
50
7.0 MIR7 L22 12 ACME 12 60
75
75

48
48

58 8RB &

AIEMERERR T

7.0 MIR7L353TR 3 60 35 33 30 75

AESEMERR T

1161 1171



GGREWIN® (- Professional Toog‘!:l;]ug;?ﬁmﬁr
MDRHAZEEET] =1 me mm MCRAEE]T] nrmmren

Adb

4.0 MDR 4 RO.5L18 50 18 15 05 08 ‘ 1.8 4.1 3.0 MCR 3 R0.2L10

50 10
5.0 MDR 5 R0.5 L24 50 24 15 0.5 1.2 23 5.1 4.0 MCR4R0.2L15 50 15 0.20 08 04 1.7 4.1
6.0 MDR 6 R0.5 L27 75 27 15 05 14 ‘ 28 6.1 5.0 MCR 5R0.2L15 50 15 0.20 1.2 07 21 51
6.0 MCR 6 R0.2L15 50 15 0.20 1.4 07 28 6.1
TIEHEHIHERT
7.0 MCR 7 R0.2 L20 60 20 0.20 15 0.8 33 71
AEERIERR T

1181 1191



DGrewiN’
MWRﬁﬂﬁﬂmIﬁu%/{E%

F ‘ BAALE
60 MWR & R0.2 A0 50 150 | o020 & | 45 23 10
6.0 MWR 6 R0.2 ABD 50 15.0 0.20 60° 30° 23 10
TR &M IEER T

MWL

6.0 MWL 6 R0.2 ASO 50 15.0 0.20 45°
6.0 MWL 6 R0.2 A60 50 15.0 0.20 60° 30° 23 10
EIEH SRR IHRR T

1201

C Professional Tool Manufacturer
El IR HIEH

MGRAEET] e

s “S——

NN — =k

kA —
e ® =B [r—
-
07 0.6 13 3.1

30 | MGR3IBO.7L10 I

10 MGR 4 B1.0L10 50 | 10 1.0 1.0 17 4.1
4.0 | MGR 4 B1.0L15 s0 | 15 1.0 1.0 1.7 41
40  MGR4B15L10 50 | 10 15 10 17 a1
50 | MGR5B1.0L1S 50 | 15 1.0 12 23 5.1
50 | MGR5B1.OL22 50 22 1.0 12 23 5.1
5.0 [ MGR 5§ B1.5L15 50 | 15 15 12 23 5.1
5.0 MGR 5 B1.5L22 50 22 15 12 23 5.1
50 | MGR5B20L15 s0 | 15 20 12 23 51
5.0 MGR 5 B2.0 L22 50 22 20 12 23 5.1
60 | MGRGB1OLIS 50 | 15 1.0 14 28 6.1
6.0 MGR 6 B1.0 L22 50 | 22 1.0 14 28 6.1
60 | MGR&B15L1S 50 | 15 15 14 28 6.1
6.0 MGR 6 B1.5 L22 50 22 15 14 28 6.1
60 | MGREB20LIS 5 | 15 2.0 14 28 6.1

60 | MGREB20L22 | 50 | 22 20 | 14 | 28 | 61
70 | MGR7B1OL1S 80 | 15 1.0 25 a3 7.1
7.0 | MGR 7 B1.0 L22 60 | 22 1.0 25 33 71
70 | MGR7B1.0L30 60 30 1.0 25 33 7.1
7.0 | MGR 7 B1.5L15 60 15 18 25 a3 71
70 | MGR7B15L22 60 | 22 15 25 a3 74
7.0 MGR 7 B1.5 L30 60 | 30 15 25 a3 71
70 | MGR7B20L1S 60 | 15 20 25 a3 7.1
7.0 MGR 7 B2.0 L22 60 | 22 20 25 a3 7.1
70 | MGR7B20L30 0 | 30 20 25 a3 7.4
80 | MGRa&B1.0L22 80 22 1.0 17 a8 8.1
80 | MGR8B1SL22 80 22 15 17 38 8.1
8.0 MGR 8 B2.0 L22 80 22 20 26 38 8.1
AEHEHIEFERT I 21 I



GGREWIN® (- Professional TOO;';I;]U;;;—;;
VKRB 2 VR o

1 L | DK 2

od

|

— |
/ ]

ol P11 1 S ——
#* B — 1 1 i 1

4.0 ‘ MKR 4 R0.5 L10 50 10 0.50 1.0 0 | 17 41 4.0 MFR 4 B0.75 L15 50 15 0.75 | 12 | 1.95 5.0
|

4.0 | MKR 4 R0.75 L10 50 10 0.75 15 10 T 41 4.0 MFR 4 B1.0 L15 50 15 1.0 | 15 1.95 5.0
50 ; MKR 5 R0.5 L15 50 15 0.50 1.0 1.2 23 51 4.0 MFR 4 B1.5L15 50 15 15 | 28 | 1.95 50
50 MKR 5 R0.75 L15 50 15 075 15 12 23 5.1 50 MFR 5 B0.75 L22 50 22 075 12 245 6.0
5.0 MKR 5 R1.0 L15 50 15 1.00 2.0 12 23 51 5.0 MFR 5B1.0 L22 50 22 1.0 | 15 | 245 6.0
6.0 MKR 6 R0.5 L15 50 15 0.50 1.0 16 28 6.1 5.0 MFR 5B1.5L22 50 22 e 25 245 6.0
6.0 MKR 6 R0.75 L15 50 15 075 15 16 28 6.1 50 MFR 5 B2.0 L22 50 22 20 | 38 | 245 6.0
60  MKRER1OL1S 50 15 1.00 20 16 28 6.1 6.0 MFR 6 B1.0 L22 50 22 10 | 15 | 285 8.0
o A 6.0 MFR 6 B1.5 L22 50 22 15 | 25 | 2,95 8.0
SERIERR 6.0 MFR 6 B2.0 L22 50 22 20 3.0 295 8.0
6.0 MFR 6B2.5L22 50 22 25 | 48 | 295 8.0

60 MFR 6 B3.0 L30 75 30 30 6.0 295 8.0
80 MFR 8 B2.5 L22 60 22 25 | 85 | a8 100

AENERIERERT

1221 1231



GREWIN
MFLABEET] s

BFLE

4.0 MFL 4 BO.75 L15 50 15 0.75 12 1.75 5.0
4.0 MFL4B1.0 L15 50 15 1.0 1.5 1.75 5.0
4.0 MFL4B15L15 50 15 15 28 1.75 5.0
5.0 MFL 5 BO.75 L22 50 22 0.75 12 225 6.0
5.0 MFL5B1.0 L22 50 22 1.0 15 225 6.0
5.0 MFL5B1.5L22 50 22 15 25 225 6.0
50 MFL 5B2.0 L22 50 22 20 a8 225 6.0
6.0 MFL 6 B1.0 L22 50 22 1.0 1.5 275 8.0
6.0 MFL 6 B1.5 L22 50 22 15 25 275 8.0
6.0 MFL 6 B2.0 L22 50 22 20 3.0 275 8.0
6.0 MFL 6 B25 L22 50 22 25 48 275 8.0
6.0 MFL 6 B3.0 L30 75 30 3.0 6.0 275 8.0
8.0 MFL 8 B2.5 L22 60 22 25 35 375 10.0
B R &R RR T

|24 1]

C Professional Tool Manufacturer
El IR HIEH

MVR GHEET] sz

BhAE

a4 B | ]
AshHk w B [r—

6.0 MVR 6 B2.0 L15 64 15 20 11 120
6.0 MVR 6 B2.0 L22 64 22 20 11 120
6.0 MVR 6 B2.5 L22 64 22 25 14 12.0
8.0 MVR 8 B3.0 L27 64 27 3.0 16 15.0
8.0 MVR 8 B3.0 L43 80 43 3.0 16 15.0
8.0 MVR 8 B4.0 L43 80 43 4.0 21 20.0
o] B EFIERR T
1251



C Professional Tool Manufacturer
El IR HIEH

WZE]TIT

3.0 SIM0012 H3 88 12 12 K25 s25 835
3.0 - SIM0016 H3S 75 16 20 K25 s25 5358
30 SIM0016 H3 88 16 20 K25 s25 S35
30 SIM0020 H3 88 20 20 K25 s25 535
30 + $IM0022 H3 88 22 2 K25 s25 S35
3.0 SIM0025 H3 62 25 108 K25 s25 835
4.0 SIM0012 He 88 12 12 K25 s25 5355
40 * SIM0016 H4S 75 16 20 K25 s25 S35
40 SIM0016 Hae 88 16 20 K25 s25 s35
S 40 SIM0020 He 88 20 20 K25 s25 835
4.0 MZR 4 RO.5L15 50 15 0.50 10 1.2 195 50 4.0 £ 3073 14 83 2 22 K25 S5 835
40 MZR 4 R0.75 L15 50 15 0.75 15 15 1.95 5.0 22 ol 82 i 18 |25 i) 5353
50 MZR 5 R0.5 L22 50 22 050 10 12 248 6.0 Bg SReel e it 1 12 KeS Lo i
5.0 MZR 5 R0.75 L22 50 22 075 15 15 2.45 6.0 B0 s e i = bt s25 835
5.0 MZR 5 R1.0 L22 50 22 1.00 2.0 25 245 6.0 80 S0T1E e 88 Lo 20 s 880 80
60  MZRGRO.5L22 50 2 050 10 | 12 | 295 80 e et e o - B B i o
6.0 MZR 6 R0.75 L22 50 22 0.75 15 15 2.95 8.0 54 LERIEET HE i e 52t Se8 =
6.0 MZR 6 R1.0 L22 50 22 1.00 2.0 25 295 8.0 il Sl e P . 135 L s =
6.0 « SIM0016 HES 75 16 20 K25 s25 S35
RS EMIHTR T 6.0 SIM0016 HE 88 16 20 K25 s25 835
6.0 SIM0020 HE 88 20 20 K25 s25 35
6.0 + SIM0022 HE 88 22 22 K25 s25 835
6.0 SIM0025 HE 62 25 10.8 K25 s25 S35
7.0 SIM0016 HT 88 16 20 K25 s25 S35
7.0 SIM0020 HT 88 20 20 K25 s25 S35
8.0 SIM0016 H8 88 16 20 K25 s25 835
80 SIM0020 H8 88 20 20 K25 s25 35
100 $IM0020 H10 88 20 20 kK25 | s25 | S35

‘AERERA TR BN EE

1261 1271



